12d

i
|
e U
STANDARD HOOKS AND
BENDS

NOTES:
1.d = BAR DIAMETER
. 2,FOR STANDARD HOOKS AND BENDS:

80° 0\ 1857 D = 6d FOR #3 THRU #8
E)D { D = 8d FOR #9 THRU #11
3.FOR TIES AND STIRRUPS:
D = 4d FOR #3 THRU #5

o
\Gd #3 THRU #5 \

-

& 4,REFER TO GENERAL

~ STRUCTURAL

124 #6 THRU #8 3" MIN NOTES FOR VERTICAL
REINF SPLICE
TIES AND STIRRUPS REQUIREMENTS
%~ CLASS B (AP
& § WIRE TIES [ WIRE TIES
T N ,
¥ o
of } 3 [ e sessss—— |
OFFSET SPLICE LAP SPLICE

.TYP BAR BENDING DETAIL

NONE
EXISTING CMU WALL
. T -
R 2]
\—L2x2x1/4 KICKER @ EA END

\ OF OPENING. WELD ON
A PLATE SIDE FURTHER AWAY
. FROM OPENING, SEE 18/33
{NQ KICKER AT SiM)
-~ PL 1/4"x4"x4" WELDED 5"
FROM EDGE OF OPENING
(OMIT AT SIM)

---LBx6x5/16 LINTEL W/
6" MIN BEARING EA END,
GROUT CORES BELOW
SOUID IF HOLLOW

T/ OPNG
SEE ARCH R

il

]

!

|

I

CHAMFER GMU i
CORNER FOR TIGHT | i
|

i

1

]

1

%

FIT OF LINTEL -

EXISTING CMU WALL---
TO BE REMOVED
SHOWN DASHED

NOTES:

1. SAW CUT READ JOINT.

2. FORGE FIT ANGLE.

3. REMOVE CMU BELOW ANGLE.

FOR ATTACHMENT AT -~
TOP OF COLUMN, e
SEE 7/83

= T8N HE (L) STIFF CLIP
EACH SIDE . TYP

BOX HEADER

—= (4) #10 TEK SCREWS
EACH LEG, TYP

{10) #10 TEK SCREWS
EACH SIDE, TYP

~— BOX COLUMN

11/2°=1-0"

~— WHERE "X" > 6" PROVIDE

EXIST JOIST -~ L1 121 1/2x3/16 WELD TO
TOF AND BOTTOM CHORD
BOTTOM
CHORD
LOAD

4

.JOIST WEB REINF DETAIL

SPLICE BARS,
SIZE TO MATCH
TYP REINF
24 BAR L 24AR /o 24BAR
DIA, MIN T DIA, MIN DIA, MIN
" /
s /
. N -
«lZ r4
2= gis
g S
T FOOTING, WALL,
OR GRADE BEAM

&

CORNER INTE;SVECTIO\N TYPRENE
@CORNER REINF DETAIL |

EXISTING ROOF DECK-——,
18GA CLIP W/------
(3) #10 SCREWS T¢

DECK ABOVE

s

{4) #10 SCREWS, -~ \\»»PROVIDE 2" CONT SLIP

TYP UNO TRACK, ATTACH TO ROOF
DECK ABOVE W/ (2) #10
SCREWS @ 18" OC

--~—PROVIDE DIAGONAL KICKER
g ABOVE CEILING @ 4-0° OC
AND AT EA BOX COLUMN

A ACT CEILING
$sss ARCH _~-~BOX HEADER,
|-~ seesis3

IL

3igre

PL 1/2"x4"X0"-10" W/——
{2) 1/2"Q EPOXY ANCHOR
{3" MIN EMBED)

-1.3x2x1/4x0-4" @ 24" OC
EACH SIDE (STAGGERED}
MAX Wi (1) 5/16" DIA EPOXY
ANCHOR W/ SCREEN TUBE
(2" EMBED)

HES JAMB STEEL—~_

o

NQTE:

DUCTWORK, PIPES & OTHER

EQUIPMENT SHALL NOT BE

HUNG FROM THE EXIST ROOF

DECK. ALL SUCH ITEMS SHALL

BE HUNG FROM JOISTS, BEAMS
~ OR SUPPLEMENTAL STEEL

i TOP CHORD
PANEL POINT

3

{~4" OR LESS FROM
" BOT CHORD PANEL
POINT

ALL CONCENTRATED LOADS TO THE STEEL JOIST, INCLUDING PIPING OF 4@
SHALL BE CONNECTED WITHIN 6" OF THE JOIST TOP OR BOT CHORD PANEL
POINT. ADD (2} L1 1/2x1 1/2x3/16" REINFORCING ANGLE WHERE THE
CONGENTRATED LOAD IS NOT WITHIN 8" OF A TOP OR BOT CHORD PANEL
POINT. ANY PIPING IN EXCESS OF 4"@ OR EQUIVALENT WEIGHT IN PIPE
GROUPINGS OF SMALLER DIA IS SUBJECT TO APPROVAL OF THE
STRUCTURAL ENGINEER.

HANGING LOAD SUPPORT

NO SCALE

. 4\4" OR LESS FROM

— #4 DWLS x 2-0" @ 24" OC.
DRILL AND EPOXY 4" INTO
EXISTING SLAB

/- NEWSLABON
/' GRADI

EXISTING SLABON —,
GRADE

$ T/ SLAB

NOTE: AT TRENCHING LOCATIONS, DOWEL
FROM OPPOSING SIDES TO BE STAGGERED.

@SLAB INFILL DETAIL

- (2) 12008162-68
AT SiM: (2) 800S162-43

/ Y 3627150-68 TOP & BOTTOM
AT SIM: 362T150-43
TOP & BOTTOM

p
"

N,

- #10 TEK SCREWS
@ 16"0C, TYP

.BOX HEADER

EXISTING -

CMU WALL HSS JAMB STEEL

CONNECTION TO
~ WALL, SEE 12/83

- BASE PLATE,
4 SEE 12/83

- EXISTING SLAB
ON GRADE

10"

.JAMB BASE DETAIL

EXISTING ROOF DECK

ADD L2x2x1/4 BACK —
(1) JOIST SPACES

PL 1/4"54"x0'4" TAB -~

e
KICKER, SEE 6/83~

e
EXISTING JOIST -

.CQNNECTION DETAIL

34710

x
O wl
EXISTNG — 28
SIDEWALK WZ
RAMP AT SIMY, O £
L X
LmQ

/o #4 @12'OCEA
7 WAY, TYP UNO
7

-~ EXISTING SLAB
| ON GRADE

#4DWL@ 120G 8" CONC WALL W/ {1) THUS: g
Pyl #5 TOP AND BOT AND N
#5 @ 16" OC VERT,
2o TYP (3) SIDES - EXISTING
4T/ FOOTING CMUWALL

(2) #5x2-6" DRILL & —-
EPOXY INTO EXISTING

“—EXISTING

COMPACTED -~ N
FiLL BELOW y FOOTING, TYP FOOTING
FOOTING tom-1-87%1-0" FOOTING

W/ (2) #5 CONT,

TYP (3) SIDES

‘STOOP DETAIL

212

$ T/ {E) SLAB

_—(2)3627150-68

{4) 1/4" TAPCON
SCREWS W/ 2" EMBED

~#10 TEK SCREWS
@ 18°0C, TP

—-362T150-88x0'-3 3/4"+

3r=qngr

- EXISTING ROOF DECK,
: FIELD VERIFY

EXISTING -
CMU WALL

GROUT CORES — .,
SOLID AT ANCHOR
LOCATIONS, TYP

. .JAMB HEAD DETAIL

Ldx4x1/4 BETWEEN -~
EXISTING JOISTS \

L3x2x3/16x0'4" -+
EAEND

6" MAX

“— CONNECTION TO
WALL, SEE 1283

-~ HSS JAMB STEEL

~—-EXISTING ROCF DECK
EXISTING JOIST,
TYP

, .CONNECTION DETAIL

3625162-33,
SEE 20/83

~—DOWEL, SEE 3/53

&\-‘#4 DWLS @ 16" OC

1 112"

DOWELS TYP, - #4 BENT BAR
SEE 4/53 | DOWELS @12 OC
A T/SLAS - |

DOWELS TYP, -
SEE 3/83

EXISTING -
SIDEWALK

8" CONC WALL, - 4" SLAB W/ #4 @ 12" OC
SEE 4/83 EAWAY

FOOTING, -~

SEE 4/S3

GOMPACTED FiLL -~
BELOW FOOTING

@RAMP DET,

TSN HE(L) EA S|

—-BOX COLUMN,
L~ SEEUS3

b TSN HE(L) ONE SIDE
OF HEADER W/
(16) #10 SCREWS

18GA CLIP W/ (5)#10 —
SCREWS INTO EA HEADER
{10 TOTAL)

\"mBOX HEADER

BOX HEADER CONNECTION

302

@NOT USED .

-L4x4 SPANNING
BETWEEN JOISTS

EXISTING ROOF DECK -

EXISTING
CMU WALL

-+~ (2) #12 SCREWS
0 INTO STEEL

|-~ 3628162-33 @ 16" OC,
TYP

3628162-33 @ 16" OC -

SUPPORTING NEW -+ 3628162-33 KICKER

GYP SOFFIT @ 32" OC, ATTACH

% P
ASSUMED EXISTING ----- & TO ROOF PER 7183
FRAMING

ACT CEILING

N
3627125-33 TRACK brs:
ATTACHED TO EXIST 271 7 362T125:33 TRACK Wi
FRAMING Wi/ #12 - (2) #10 SCREWS FROM
g%%ﬂ!g% ;ﬁpggN E = - TRACK TO VERT STUD
P - & FROM TRACK TO

SCREW @ MASONRY 2 N HORIZSTUD

s % -~ STOREFRONT
EXISTING STOREFRONT -~ BELOW BY GTHERS

.,CONN,ECT!ON DETAIL

z &
8
8z
1))
.| d
o q
0
s -
T 1l
2.8 0
S8
n.mg _j
Sral ¢
5z 4
SE
TEEIR
yw o
sERO t
ECox

-y
8
@
34
23%
noow |
whau.
Obod
L
ol
6ay
Tt g .
CSERY
B35S
Fa) 8822
386
w
AAD  TJM/MSN
o
03/29/2019
NBASON:
BID SET
PRONCT NUMOER:
19035-HHL
BEET MABIR

\—

WITHOUT THE EXPRESSED WRITTEN CONSENT OF THME DESIGN PROFESSIONAL.

AND ARE THE PROPERTY OF THE DESIGN

AND

© coPYRIGHT 2018 -~



	Created with MetaPrint
	11 S3.pdf

